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 The figures in the margin lndzoate full marks
' for the questions '

1. (a) State True or False : 1
I’ {a"b"|n21} is context-free but not
‘ regular.
then find Ly - La- .9
(¢ " If a regular expression is 1*0, then
find string set- 2
2. (a) State True or False: 1
If a grammar G=(V,,% P, S), then
V, and X are finite but P can be infinite.
() State the dlfference between a Mealy
machiné and a Moore machine. 2
( Turn Over )
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(i) Construct an Npy %

Ioef all stl‘ings ove

. {gccepting the set
s » 1} that have at
tive 0’s and 1’s
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( Continued )

6x2=12

(5)

. (a) State True or Fal’se :
Every finite subset of =* is a regular
laniguage-

(b) -Consider the
transition table_; below :

DFA given by the

Input

State
a b

a2 @
i\ a3 qo
| % ' do 93
k] G q2
Test whether the string 110101 is
accepted by the: DFA or not.

the Méhest type number
be applied to the following

2

() What is
that can
grammar?

S

2.
Aa, A —+C|Ba,=-B—>abc

(d) Show that the grammar
G=S— aSbS|bSaS|*

is recursivé. '
(¢) Answer &y one from the following
(i) Construct 2 grammar that generates
" the languag®
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(6)

4.,
(@) State True or False
P+ =(P*Q*) .

re
gular €Xpressions

here P and Q are

(b)  Prove that

A+1*(0i1)* g*
011" a* o1y =(1+011)* :

(c) | Re
Present.
ent the following set b
o y r egu]ar

€Xpression,
{{:‘T {?’ %"l has only one a} 2
@ A n1s divisible by2or3orp = 5}
SVer any fyg from the following ,' 5 f
T exae12)

@) Constryey an

°8ular expreg A equivalent o

sion

the

0+1* 00
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(@)

(b)

(c)

6. (a) Define

‘Define parse tree for a

&5

(7)

(ii) Construct 2 grammar G to generate
the set of all palindromes over {a, b}.

(i) Show that L={uwlwe (@ b} is

not regular.

What is ‘context-free grammar?

CFG. 2

two from the following :

Answer any
6x2=12

the . following CFG to
normal form :
S -alaBle
A — alaS|bAA
B — b|bS|aBB

(i) Convert
Chomsky

(ii) Reduce the following grammar to
al form :

Greibach norm
S - AAla, S — AA|b

(ii) Show that L= (@"b"c"|n21} is not
context-free put context-sensitive.

e formal definition  of
push—down automation. 3
( Tumn Qver ):

v



(b)  Construct 4 PDA accepting L

isin (0]1)* ang wR is the reverse of wj}.

(¢) Show the aoves by the PDA. for the
string ((( ))).

* A A
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